RN ERBREENNSSHLENIERKEE 4300 R

DruckBIFE T AL RER4300 R ELM N R BB ERENGRES, [ ZNAEFIZEE. HFRIRIRIREN
EthEREEXBRERITRE Lo

4300 RYINEEFS: MEEHR
* SIMBI2TE [EHER
'$&ﬁﬂ@7\ﬂ%/ﬂ%§:@ -30°C~+175C o fgg:zslif::q 300 kPa, 1IMPa_ 1.5MPa, 3MPa, 8 MPa_ 12.5
ONEEES: + 0.19%FS BSL . BEEREESEAT VEL) : 1-25MPa
o Vg mV i EXTE
O MTHREESHHERNES (T L DS mRSR TS
AN, IR, EBR SHEE N
g ® ZFhER NEORBSED o FEEHN: 37.5MPa
S ® S\ TRIEF R NSk * #: 50MPa
2 o EBHINIRF. DT, RSB T IR TIE NEERSE
& o SR 316L T4 IMI160 SN AL B S Pressure
=K Equipment Directive 97/23/EC

70N

i

HEBE

e PDCR4300: 10VDC
e PMP4300: 12V+4VDC

HEB I
e PDCR4300: <2mA
e PMP 4300: <5mA

ERNHEERE
« PDCR4300° +3mVDC
« PMP 4300: +50mVDC

62



VERETSIR
BE

o PDCR 4300:+0.2% FS
e PMP 4300:+0.1% FS (Sf2 <=6MPa) ; +0.2% FS ( SiE >6MPa)

KHRE M

o <0.1%/ £F
T{EREEE
e -30~175°C PUP436e
tM2RESEE

e -30~175C
EQ/HEERERE
e PDCR 4300: <+1.5%FS/100°C

e PMP 4300:<+1%FS/100°C

mEESHIL (ONik)
« PDCR 4300: 1.5 VDC +1 VDC (20°C]
« PMP 4300: 29 VDC +0.5 VDC (20°C)

N = = N PDCR431#
mEESHRE (o)

e PDCR 4300: 3 mV/°C +2 mV/°C
e PMP 4300: 7 mV/°C +1 mV/°C

BB

* >100 M Q @50 VDC

tolun] USE

e PDCR 4300: 2 kQ
e PMP 4300: <100 Q

YDIRL

‘I PDCR436+

Bk

* 5] Raychem 345, #I#% EPD 96401A, < 1 m

. 5 EIEIHIEE s Anla

g5

+ FAT 579
&5 S

o 50Hz-2.5kHz@40g, 0.320ct/min, 8 /) \BY ( =[&))

s Veffte

/ y - B 2 +Velfit

* 1000g, HIEZKE 1ms( =)

e =! Vel
BHRE .
o CE4ND & RESS

[ S9N TABE
IMEZR T (8 mm)
(23.3) Pinl +Vefitess
—55 —g10
5 [k' 17,45 Pin2 -Vefteg
\ |
JH Lo 77 Pin3 +Velgi
: | Pin4 -VefFiH
[ Pin5 BEES/INE

PMP43 1+ MARNING DETAILS

63

MARKING DETAILS

PMP 431X

4T/Pinl +VefHes
S2/Pin2 oV
e -

£3/Pin3 +VelgiH

F/Pin4 BEES

[reii/

Pin5 18R SHNTABE

PMP 436X

Pinl
Pin2
Pin3
Pin4

Pin5

+Veltte3
ovVELI
+VelgiH
REES

T




TTIRES

1EERS
BRHL
PDCR  mVEEit
PMP VI
BEEARS
43
BRIERE
1 Raychem&345
6 SERER
MR
1 N7
2 K
W E
ovl 0.2-4.7V ({EATFPMPEIS)
ov2 0.2-45V ({LEAFPMPELS)
ov3 0-50mV ({5&FFPOCRELS)
IMERETEE
T1: -30~+175°C
T2: +20 ~+150°C
T3: +40 ~+170°C
T4: 0~+175°C
EhEO
PB G1/4 Male Flat
PD G1/8 Male 60° Int Cone  (FAMRIAENRSH)
PF 1/4 NPT Male
PG 1/8 NPT Male
P13 M14 x 1.5 60° Int W/Lock
P14 M8 x 1 Male
P18 M10 x 1 Male
P19 M10 x 1 Male 90°Ext Cone (A RIALKNRSH)
P20 3/8-24 UNF Male
P21 5/16-24 UNJF MS33656 Male
P22 7/16-20 UNF Flat End 74°
P23 G1/8 BSP Male
P24 M10 x 1 Male Snubber
P56 M10 x 1 Male Wirelock | ZAA7 496K MRS
v 4 \ 4 \/ v \ 4 4
PMP 43 1 1-0v1 - T - pp ~ HRIAS

[2) EIn (WFEE)
ABCEBYEBERIGK
BIRESSHID

(3) EONSBE RPN

(4 BAKE (WHEER)

64



